






RRB NTPC Stage-2 Exam Pattern

Sections No. of Questions Total Marks Duration

Mathematics 35 35

90 minutes

General Intelligence and 
Reasoning

35 35

General Awareness 50 50

Total 120 120







Find number of squares in figure?

(A) 11 (B) 21
(C) 24 (D) 26



Statement :-
All woods are roots./ सभी जंगल जड़ हैं।
All fruits are roots./ सभी फलजड़ हैं।

No woods are fruits. / कोई लकड़ी फल नही ं है।

Conclusion :-
Some roots are fruits./ कुछ जड़़ें फल हैं।

All roots are woods. / सभी जड़़ें लकड़ी हैं।
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Find the missing  :-

1. 4
2. 7
3. 1
4. 8
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12 6 9

8 11 1

14 7 12

10 12 ?



Find the missing :-

6 * 5 = 91
8 *7 = 169
10 * 7 = 211
22 * 5 = ?

(A) 993 (B) 331
(C) 845 (D) 678
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Find the missing :-

A , C , E , D , C , E , G , F , ?

(A) E
(B) H
(C) D
(D) C 
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Find the missing :-

(A) 928
(B) 686
(C) 430
(D) 324
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Find the WRONG ONE :-

EC , H , HF , N , KI , U 

(A) HF
(B) EC
(C) N
(D) U 
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Find the missing :-

PURPLE : OWOTGK :: GREEN

(A) FTBBI
(B) FTBII
(C) FTBJI
(D) FTBIJ
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Find the missing :-

Dog , Goat , Non vegetarian / कुत्ता, बकरी, मांसाहारी
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Find the missing :-

(A) 9
(B) 7
(C) 10
(D) 8 
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4 5 6

5 6 7

9 4 ?



Find the missing :-

(A) 2
(B) 8      
(C) 10
(D) 14
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14 9 12 20

4 9 8 10

12 13 7 20

3 3 11 ?

20 42 19 40



Find the missing :-

(A) 15
(B) 16
(C) 17
(D) 19 
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1 2 3

11 7 5

120 45 ?



Find the missing :-

(A) 1
(B) 2
(C) 3
(D) 4
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2 4 14

3 5 22

? 6 32



Find the option which should replace (?)

52 + 02 + 43 = ?

(A) 110 

(B) 114

(C) 214
(D) 115


